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4.6 - Absolute Value Inequalities

Vocabulary:
¢ absolute value
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@EZED) Solve and check |a| — 3 = 5.
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Solve each equation. If there is no solution, write no solution.
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Solve each equation, If there is no solution, write no selution.

13. [r — 8] =5 15.2 = |g + 1
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EEZIEDD solve |y - 5| <2. Graph the soluti;)gs.
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Solve each inequality. Graph your solution.
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QEZIEDY The ideal diameter of a piston for one type of ca@@
The actual diameter can vary from the ideal diameter by at most
0.007 mm. Find the range of acceptable diameters for the piston.
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35. Manufacturing The ideal diameter of a gear for a certain type of clock is
12.24 mm. An actual diameter can vary by 0.06 mm. Find the range of
acceptable diameters.
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Homework: pg. 237 #8, 12, 16, 18, 26, 30, 34,42,44,72, 90




